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[Time: 2!/, Hours]

NiB: .l e questlons are compulsory.
2. Figures to the right indicates full marks.

Q.1 (A) Select the appropriate answer and fill in the blanks ( Any ): ¥ %

1) model aims at satisfying the higher Ievel
a ) Custodial b ) Autocratic c) Collegial Tyl

/\’

2) Theory X and Y of Motivation is profoundqc}ﬁv S
a )Clayton

3) Understanding ideas and word meau‘x

*b .-?

4) is a group composed ofgthdw ya

a)Formal  b)Command & @I Sﬁ“

Q5 G‘“.&%

5) ___ skillsinclude a \Aﬁdﬂ;ﬁiﬁg :gfk(

a ) Interpersonal Sﬂfg,h’fc > ni

oy ‘ t,{):‘\ PN 9 )’g ‘3:;112: 3
ANy A (\ ‘\’, “"‘

6) __ self contaihg%;beﬁsfa \B

a ) Unknown ébixlap‘en‘ 3

Ty 4‘9
'r \ ‘i‘$ i \n_
7) refg?&;to *tflg crﬁ'ae\ig
" a)Sub. cul;um «h}quL'ﬁ\@gtw_ ;
el B R o~ . LR
o¥ \P.\¢tﬁ\‘lej “-‘A\,,l\\r g

8) Contktﬁﬁzszxyzq‘d@ﬂmgpt;s?&a\gomﬁf}gl;ra}ledas

a rsonat” ) 5| ;

DG F S S

o e i O
S ,5.»\1;,expega“gn

& fgaﬁ‘iz‘a’tlm\f S

Qi1 (B) Etat‘emether the'\fouﬁwihﬁtatehmuragg tr‘ue or false. (Any 7) (7)
3 Ml) ‘In’ Autottatlt: rpbdel bf@)&, managérs approach towards the employees is dictoral in nature.
)'A\“Hygieme t\hedm“f;tha@aﬂogﬁs‘profounded by Abraham Maslow.

3) ijualtégmry_ ec mhutg‘ 'tpchnology to tie together the members and achieve the common

= o
B\

Jn nbrqﬁmﬁtgge@r;pup réal[y begins to come together as cohesive unit.
& Asgertyeﬂiess |§‘1ﬂ&pr9¢ess of expressing thoughts and feelings while asking for what one wants
i ,én\hgp‘tﬁgnqte;@vav
€ '*I*he s&\b‘f@swqﬂ:mns beliefs, values and norms that are shared by organization members is
45y \“.,‘Gaued‘ag‘otg’gplzatlonal culture.

&3 Hrotdnged expOSure to intense stress is called as depressjgn.

"

(P.T.0)
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In refreezing stage, change becomes permanent

9)

Q.2

OR
c) Make a comparison between the Need H

d) Describe the ERG Theory of Motivation.

Q.2

a) Describe the dimensions of Emotiona
b) Briefly enumerate the different stages

Q.3

/OR

e
P

L

Q.3

a) What do you mean by Organi

b)

Q.4

c)

Q.4

3, »,.ol!\m:..\ ;.,r,\. o=
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d) Write a note on Tim
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[Time:: 2 -Hours]

Please check whether you have got the right qu\emon
‘ N.B: 1. All questions are compulsory Subject to mternal chmge@ !
i 2. Figures to right indicate full marks. ‘ &

a) Typel
b) Typell
c) Neither
d) Both

solve it.

a) Simplex
b) Complex
c) Duplex
d) Alithe threey

687035EEB3FB9411F0E1161529DA0614




B State whether the faﬂu,;«ing statems
1) Ahypothesis. stam[!g\thif ‘there
sample and. ﬂié”pﬁpulqt n pa

Qz _' &

2

Infrastructure facilities consist of

a) Railways
b) Inflation
c) Income
d) Real income

N

8. A matrix is said to be null matrix if all the elements oﬁhgnﬁtr arn

9.

10. In the process of testing, aﬁaﬁsﬂdﬁnﬁqﬂ&w ith

in simplex method the intersecting ele

a) Ones
b) Zeros
c) Two
d) Three

qmt‘o'fkav | 0\}4 éhtf"l@éy colur
a) Key : s
b) Non - key
c) Initial
d} None of these

\ ":

a) Alternate

\\\

;;';\ 07
\gﬂ&cah“t differgnce hetweeh the statistic calculated from the
rgm\éter assumed is cﬁi{gﬁ the null hypothesis.

2) Linear: pmgrammfn\g %am;\the@&sjt fdubdat}oh for an!m;iottant branch of Mathematics and

8).¢

P "9) C’ohstramts are tha f*egiﬁe’hehs
> _,,--“"10) Test ofAstatlstlc

Statismfs ;&illed Dpera
3) Ifthe determinant of a square atrix usi then
4) g b =23andbic =2 Btt@&n"a bio: .s:m

7 he‘ex’pet‘.téa m.tu rnis t’a[éulﬁtéd fmm‘the mean de\uatlon of the returns.
& 6) ThGSum b?f-bbr?‘“aw

: s:shre tﬁeJJ{P gr‘anhucalw £
Mnhmzq B 12&4-.-.#
Subject to:?lj- x) 27

Q '\.\
«thé“matﬁi: is a identity matrix.

e

aq,ar a@sém

al%a&

hgwtqﬂé&qé

07

*xu lszﬂ

b A'cinis foﬁs“ec(% times and was found to result in head 245 times. Can we conclude that the coin g
Al is fair? Use 5% ]gvéf of significance.

OR

687035EEB3FB9411F0E1161529DA0614
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&
L.

e S
c. Solve the following using simplex method e {6
Maximize z = 9x; + 13x, £
2x; +3x, < 18 :
2x;+x; <0 NI IE vl pts

d. Vitamins A and B are found in foods F, and F, . One unit’ of food F,to?tams aunﬁs of wtal‘nm A and 05
4 units of Vitamin B. One unit of food F, contains 6 unms QfVitamm A and§ unitgo‘f vnamin B.Ohe"
unit of food Fyand F, and cost Rs.4 and Rs.5 respectively: Thqmimmum dmly rebuwernentfor a, >
person of vitamins A and B is 80 and 100 units respect;veiy Assummg that anythmg in EXCESS of the'
daily minimum requirements of the Vitamins is not harmful; formuiate the LPP to calcylate the
N7
optimum mixture of foodsF, andF, at the mlmmum tost whlch meets the dally requirements of the

two vitamins. P AV AT PO
z-,;-'swf.i S ORI O E SR ES DS
a.  Find the inverse of the matrix A= 2 . 7* 1 E G TS al; 3 07

b. A, Band C started a business withd total' caprtal of‘Rs 3,,00 000 At theeqd Qf the year, the profits

received by A, B and C were Rs. IGDQG Rs 25 600 and‘RsiS Mresbeaave}v. Eind the amounts of
capital invested by A,B anﬂ 0 oS PP X D

S :“.\DR-:: g KN ¢ A o *\ \(

Abhigyan purchases 3' p\«ms, 2 t;ags and 1 !nstrumentbox and pays Rs 41 fofm the same shop. Ishaan
purchases 2 pens, rbags ﬁnd z mstrument boxes and Qays Rs “29 wh\le Qhrutu purchases 2 pens,
2bags and 2 mst{umént boues and pay RS, éd Tran;latb Ihe«probleminto a system of equations. Solve
the system of eb,uations by matﬂx rhe‘thod\and hence ﬂnd tha\cosfof one pen, one bag and one
mstrumentbo;. GO0 N 3 T :

£

d. By selh,ng an i?‘uﬂé”bt‘ﬁs 3 GQOa person earnéd 20% profm What would have been the percentage 05
profie or Ioss, if he had sold itat RS. 2,7507 o

a. Gwen is the p(obab}li?yﬁistrLBUtlon of return of two stocks Find the correlation coefficient 07
Etahanuc el Prqhabmty | Return-of stock | Return of stock

GO | tondutions : A% B (%)

ROt P USRS $300 40

S N - SR 25 8 30

. SR 520 -15

o me the‘folbwmg m?ormatuen ca Icu late beta of security

Year S Return onSECurltv (%) Return on market portfolio (%) 08
" 10 12

2 11

14

12

11
OR

687035EEB3FB9411F0E1 161529DA0614



C.
conditions. Both the shares are presently quoted at Rs.100 per sh;ch.. 7

=

Economic Probability Returns of VCC Retum@ of U:CA‘ >

conditions Ltd.

High growth 0.3 100

Low growth 0.4 110

Stagnation 02 120 & 4
Recession 0.1 140

1) Which of the two companies are risky |nvs5tm

2) Mr. Suresh has two options for Investlng‘Rs;lm
. Onlyin shares of VCC Ltd. - ‘,
Il.  Only in shares of LCC l.td.. Y

d. 05
return on the security. )
Return on security
-0.35
-0.25 .

-0.15

-0.05

0.05

o 4‘1 \:\ T

Qs a. Define GDE*QNE?’N@F‘BM NNF Eip‘laip brl 10
b. | hiﬁ“ ance, nun hypotha; ; and Altérnété Hypéihesas. 05
1on5 e T "";\ ‘;' \ 15

ei‘eﬂt mqasures of money supply, giving their formulae.

are Ty ﬁeﬂnﬂ”ﬁrpguérmm? Ekglam br!eﬂy.
 following with examples.

'ﬂipﬁ"ﬁgg:%ﬁéﬁiﬁ; '

.

687035EEB3FBY9411F0E1161529DA0614 &



Y fime: 2 % Hours]

| B “state whethgh

1
2 2
::& > \ 3

X
Y AN
/

~ofs‘an'tia#fpﬁ &)

ﬁ‘t N.B: 1. Allquestions are compulsory.
sl A Fillin the blanks with suitable options: (Any Eight) - \\ ot
"3 1) A Selection or Employment Interview is also kno@rqs a‘: ngeate 1'
{Job/ Segregation/Selector) : 3D ¢ o
2) If the Chairperson is ........oeesressnns the con’feﬁn&gatﬁwy s“u!ftefs
(too weak/ too déminatlng/either too doma&aﬂnsm ‘ ;\a weék &
3) W
4) PN 5
) (decide the venue/determlneﬁ@@?pﬁdinforhthﬁnembeﬁ)
5) .refers to a megti Y, dﬁgu&lfq@ qr an exchaege:of Vl&
(Board Meetmg/ Comml;i‘ée—?ﬂﬁeﬁ’qﬂ Co efrenr.e) 4
6 i is an ongoing actiy S
(Public Relations/(;inf,ii?i;j‘;jj iscu n/Cc g ‘" S
7) A/An.. Apgoﬁﬁg‘é.m@?{&gﬁﬂ) whiﬂj proﬁustes ;&dwm‘ 3
(Open House(,ﬂ!p!’ﬁ; eqnfé mfﬁxﬁw L
8) Justlce delayed‘ia}u’&tlce,.-f o
9)

~>:.‘.“ ﬂqpomah;ﬁnhthe_assﬁsmeﬁ ?nd\promotlon of employees.
\U"* Qiect / Appra‘saf/ ]hspgf:f‘ s

T4 A

Qtfdhwmt stateme;i s are '{mi ot‘ False (Any Seven):
Sc‘reehmg:o&f abp‘ﬂt;a“tgons |gvoi\:és Short l!&’fmg of eligible candidates.
The p\n:poseﬁfwﬂting«ﬂ‘e\ttﬁr\bf Camplamt is to start a quarrel.
Users oﬁallw’ayf agdgimm]s 3(? a lsﬁ consumers.
’ngﬂ. pb(ts e‘ben{:hrb@ité% the External Public Relations of an organization.

" . a,'Sémihartgournahstsa?mnwted to ask questions which are replied to by a spokesperson of the

v\\,

: ; ’- ! ';One‘showd nmrdlspiay leadership Skt”S in a Group Discussion.
b3 nk 1g'

6 Summaw E’ the same as a Précis.

"\‘7 S ;, %

DB7C17DA780706E58B3407530C2D92ED
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Q.

As the General Manager of Stallion Group of Hotels Pvt. Lt@,wﬂtga'_{eﬁqr oﬁ“ i _iry;sag;ltesse ‘ eht’aﬁ@? )
Textiles Pvt. Ltd., asking for a quotation for 2,000 bed sheets: and 4, OQD fﬁk‘m& c’av 5. Usé the, Campfet '
Block layout. ) ‘«"‘ D N A {

b You had ordered three books from Amakon - an onllg#ﬁb@éllmgtamphm ng f i
package received by you were in a damaged condltion“lyn& a dttg?gf. C omplai
replacement or a refund. Use the Modified Blo oy P

Q.

»

¢ A Committee has been appointed to Invewgﬁ\feﬁlbﬂiﬁqf

Ratnagiri. Prepare a Report with recomm\énﬁagﬁ;ﬁfc’r,ﬁ m FIR LTI
d Prepare a Notice and Agenda for a Boafa_&\\ tiﬂ&ori-_ ‘nilgnindust;uéi v‘khraﬁ-‘ NM ﬁ‘l.g)‘ 05
t\‘ A ,

Draft a Sales Letter to promote th@sakﬂ;g’avsqﬁ-@mw U;!t\&e;ngl B]gd'(iaw ; 07
b Draft a letter addressed to The gﬁ;ﬁbﬁﬁm&;\mﬁqﬂsﬁw: Bgdré‘ssgl‘l-‘;érumﬁuﬂars)han Building, 08
Gokhale Road, Dadar, Mumbawtﬁqp Hﬁ:@%éﬂ%ﬁe\‘w_&hﬁgm&m saIdYo you by Dedhia

Electronics, Charni Road, Mtin'gb al 3;% Qomblﬂﬂﬂotk-lqéﬁdt '

m' m cannins factorv at

U"

r

Qv

o

¢ A Driver’s License has nbrb'
required documengg‘{pmt;x
delay. Y P 5
d Summarize the: follmni@;\ﬁsg ge: O R '

A Conceﬁtvﬁﬂohfsa@fp (ﬁr‘ihf.z rpment cainp) is szhte:&he\ré a,‘government forces many people to
live. Usually, ,tbpse pegpl& ong&ia,grobps 1;he goyemméut dpesmot like. The government may think
these pqule“are\its\ehﬂm}‘e;.‘hthﬁ ;ﬁst; geugrnm,ehts ﬁaVealso put people in concentration camps
because they belongéd to uertain&reug'm\‘rafeor\etm ft:up

& mg\_WQr\ld- ‘{d‘arﬁ Na?.i,@é c{eﬁﬁétgmaﬁgconcentratlon camps, slave labor camps and .
extéﬁ'ni : .atl\QﬁJ %fn tﬁ‘}zg s} b@_uﬁéﬁmmﬁ"& féﬁder Adolf Hitler, thought that certain groups of

sshe& to @um@ae,of Havmgpﬁsec@hqbd’vmg Test and submitting all 07
; i;&lit_!j Rigﬁt tn {nformaham\dt“aﬂqng about the reasons for the

08

fpeogie w“ewm?’gﬂ tds good;ag-othe_;s rﬂq ‘e:gen thought there were groups of people who did not
< deserve tomg\ hb.‘;;ﬁ d%he?n "Iiernwoﬁthv of i]fé " These three groups were Jews, Roma people and
-pegbie wtth disabili Héﬁv tief*\afanteéf hls"}\tazté" tokill every Jew, Roma and disabled person in Europe.
"2 Hitle 'r/a’lstbwa‘ﬁtelgiﬂ‘g 'ﬂsiqf othetgr&ups he did not like, including people who he thought might
Pl cl*ta\uelfrge o'rfﬁghi tbq Nﬁlgave;;nmerm. These people included Socialists, Communists, people of certain
Y, S ,_'rellgtensf ' G}?ﬁlém 4 }cst’anqg movgments (groups who tried to fight the Nazis in any way they

i 2

" Writeshortnatés: (Any Th
,' “Qrfev‘ancednééﬁi
V2. TheNeed. d'[l}’ifpghahgé of Meetings
v ok 3w :re!ecbh‘ ”ncing PR

15
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S

(2% Hours)
N.B. : (1) All questions are compulsory with internal cholc_és‘
(2) Figures to the right indicate full marks.

1. (a) Fill in the Blanks (any eight out of ten) :—
(i) E-Banking is also known as
1. Electronic Banking
2. Economic Banking
3. Internet Bankmg

1. Banking

2. RBI

3. Statutory ¥, ‘
(iii) Reserve Bank of Indla‘\tva 'estabhshed In

1. 1935 V% |

2. 1934 &

3 1933
(iv) BIS stands fo

_|‘tel‘natu0nai$ett[emént :
g 1 Bank"- or IntefnatIOnal Servu:e :
(v) Sec 23 of Bankmg Regulatloh Ac:t 194 ‘fer‘s to
Provision related to ‘h_censlng ef bahkmg companies
& 2 5 PrOwSion relafmg t \,bpenlng of. hbw branch of operation
3.0 /er 1 anégement
(w) Mrnlmum paid up Capttal for Llfe lnsurance is and reinsurance is
>4, Rs"loo cr. ahd Rs 200
. 2 ;,R's,;. 200, Cr."and Rs. 300 o
Yoy ‘Rs. 300 Cr. andes‘ 500 £,
(vu) < N rlsk refers o' Sk hffectmg individual but not to a community.

2 'Dynarﬁlc J
3 Partlcula

—_—

1 Perlodlt cause
2 Nearer cause
3 Far—off‘ ‘Cause

[ TURN OVER

21B78D2F7E4B051D23 199DFD41D45209



(ix) GIC stands for
1. General Insurance Corporation
2. General Insurer Corporation
3. General Insured Corporation

(x) The IRDA was incorporated as a statutory-<boc
1. April, 2000 o
2. April, 2001
3. April 2002

Column A
Regional Rural Banks
Development Banks
IDBI
IFCI
SIDBI
DFHI
EXIM

NHB
SHCIL

s

[ TURNOVER |
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f handling the Risk ?

(b) Explain the m

—y-

OR

&

&5

VQ)'V\‘.\"::” ‘
ce Poli

adat

(d) Explain the basic Principles of Insurance ?

‘\'
[

y

e

e

e
a

5. (a) Explain the claim and settlement proced

53

Ko

OR
(c) Short note (any three out of five)

(ii) Financial Literacy
(iii) Fire Insurance

(iv) Actuary

21B78D2F7E4B051D23199DFD41D45209

(v) IRDA.



@*‘ Q.P. Code': &m 3 {“'/ / 7
[Time: 2 1/;Hours] B B ' ’ :i_ {Marks'?

Please check whether you have got the rugITquestron paper ,
N.B: 1. All questions are compulsory. X o

-

al A F|Il|ntheblanks(any8) o LT A : :
a)- L ...law is by way of treaties and conventrons to whrch natronl states have agreed to be :
bmdlng on them W et v ' :
by ..is an introduction of the Constitution ani:l state s gurding purpose and prlnmples of the 7
COI‘IStItU‘tIOn & R G i : :
c) The literal meaning of ‘Quo Warranto’ is -
d) Misrepresentation is ............oueee. type of a contract
€) iwnMeans, ‘something in return’ < - &
f) Incase of pledge, bailor is called as, %............. : 0 o2 ‘ ‘
g) Right of lien means, “.......... ", the pOssessmn of the gdads untrl the clasm |s pald‘thereof
h) A cheque which is payable to a persbn who so ever. bea rsitis called as a wmede Cheque.
i) The maker of a bill of exchange or cheque is called as Qi e
i) el ...person is mtendEd by the ohgmator ’to recewe th_e electronrc rer;ord

l"

. i ,.\

B True or false (any 7) el 2 P )

a) Arbitration, medratloo are thelypes of Alternatlve DISpUtES Resolutlon Mechanlsm

b) Independent Judacrafy ;:ah néver be consldered asthe guardran, protector of fundamental rights.

c) If mistake is comrtﬁtted hy any one partv, then itis called as, ‘Bllateral Mistake’.

d) Novation mean?. wheh a prbmrse dlspenses wlth or remrts the performance of prom1se made to
him. o S, ;

e) The person: to whom guarantee is gwen |s ca!led as credltor

f) Saleisan executory contract,

g) Goodsare sald to be in a dellverable State when the buye:- under contract of sale can take delivery
ofthem. - < . 5 <3

h) Negqglable Instruments can always be'i in wrmng

i) A cheque is: aIWays payable ondemand.’ )

1) Dlgrtalsignature works on the basrs of pubhc keyr and private key.

Q2 a what iﬂaw? Explain substantive Iaw and prm:edural Iaw
b “No mar) shallbe cohdemned unheard" explam
OR .
c -Explain the right to r.onstltutronal remedles as per Art;cles 32 and 226 of the Constitution of India.
d Expiaihspecn”eave to appeat to the slapreme court (S.C.) as per Article 136 of the Constitution of India.

Q3vg Defme, 'Prdposals' What are the rules of proposals?
<0 oh Explaln, ‘Gons;deritlon Explam the exceptmns to the rule, ‘no consideration, no contract’.
P OR
c Define ’Coemon what are the e55entral of Coercion, explain in brief.
d What 15 ’Breach of Contract ? Explaln the remedies to the breach of contract.

-

8913A891E5164E8F2A52972FFDSE 1495
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Coq

P

Q

h between the '

n

inguis
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ds? Expla

OR
in goo

uarantee’. D

Kiastr. &

fa ‘Bailor’,

and

B
ies o

of Property

s

:r@

'+

g A B
L]

Q.4 a Define the concept o} I
ish between ‘Sale and Agreements to sell’

Guarantee’,
¢ Distingu

b Explaininb
d What are the rules of Transfer

=S
=
m
8
. =
~ &
.al -
(=]
o o
- w
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g 830 e
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Q.5 a Explain ‘E-Contracts’ under In




1 ) / R R
2 /0 I B.B. IJ Q.p. Cod9‘05543 \7 { g[;
a:'; [Time: Z—I-lours] . S FrSSsImre il
Please check whether you have got the right que;stldh\paper

N.B: 1. Question no. 1 is compulsory. S A :

“ 2. Question no. 2 to 5 having internal option. e P

| 3. State your assumption clearly. P8 = g

4. Figures to the right indicate full marks. -~ ... et 2

ol _‘" & N “ & A'.':?“..{;, 7“1 ::3’;; Rk P . .
A) Fillin the blanks (Any 8 out of 10) ' VRN s g R o8
q 1. The premium payable on redemption can be pmvﬁbd OUt of* ey SRt

a) Statutory reserve o rIAANIE o

b) Capital redemption reserve 3 -

ol

2

4.

L B ""6;,-:'
R -f a} Share caplxal

)
2 .7
e ¥y
E
§
k
S
.

c) Debentures
d) Loan for Bank
Super profit is 7 :

a) Excess of average profit ovet ﬂbrmal p;:oﬁt

b) Extra profit earned Lt W e
c) Average profit earned Q\H;inﬁig; gombarﬁes

d) Noneof the above = . .« “\ﬁ SR : ErSS
Capital redemption resérve‘cam bé thlllZEd fOr Agte e
a) Paying dividend: . - A v g%

b) Issue of bonus sha!és 2 S vy Ve

c) Set off agaiﬂst lossés S5 -~ k >

d) Write off fistltl'oqs b‘alance &
Average P@uﬁt lsRs 19 167 am'.! porma] proﬁt Jﬁ BS 10300 The Super Profit is

b) Bs.39.'..1‘5_7’:
O RS WL -7 5 7P T

g RAGHOT &~ 7 S

NEtAssetvﬂue tsalsocaliedas _ 3
Sal Asset backihg[vafue ;1"_\__,”“.-3 .' 2
b} Intringicvaliie .0 s e
c) Liqwdatlarwalue K :
Cdabandle PP T
The amount cemarmng unpmd to préference shareholders is included in Balance Sheet as

c} Currentllahllltles ‘
. | Coﬁtmgentl.lablﬁt!gs
Yréldvﬂ@@peﬂds@n S
a) EutureMa“Intamable profit

b} Pald up gqu&y éapttal

' c) Normawaie of return

} All ofthe abeve

Turn over
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J f/

8. Securities premium may be used for
a) Payment of dividend
b) Issue of fully paid bonus shares
c) Issue of partly paid bonus shares
d) None of the above
9. Interest on sinking fund investment is credited to
a) Sinking fund account
b) Profit & Loss account
c) Profit & Loss appropriation
d) None of the above

10. Maximum buy back in a year can be X

a) 10% 3

b) 20%

c) 25%

d) 30% ‘

B) Match the column. (Any 7 out of 10) s i P
Group ‘A’ 5 A HE By S R ﬂ__;"GmﬁNﬁ’ :

1. Freshissue 2 a} Converﬁﬁlemto eqwf ]
2. Debenture redemptlon reserve S ;h} Qr;tf\shares
3. Buy back Fr e Dividend accumulated
4. Sinking fund ‘d} Qed’un;hasé\ )
5. ' e} Part Qﬂ)uy bar:k
6. g .S f) Cmgmﬂsofrunder(:ompames Act
7. 4 ) “Specify at lssue
8.° Reserves v S G i 8 :‘h) _Optional- -
9. Fictitious aSSet R ool S H)e jaﬁedh{rrate of interest and rate of risk
10. NRR F & =4 PSS ' ;ﬂ lntanglble having no realizable value

Q.2

uahmties e -:3 ;,'Q W A$sefs Rs.
2,500 shares of Rs ﬁm’ﬁach of 2 1'*2'}50,0607 ' Land aﬁd@uﬂdmg 5,25,000
Fully paud o = '"Plantand Machinery 1,50,000
Profit & Loss Afc : 50,000 'Fu:’mture and Fitting 10,000
Debentures - .+ 1,00,000| Delivery Van 20,000
| Trade Creditors= ~-93,00,000 | Stock 55,000
: Prows:on for Taxatio '3 f;.é_'p;oqq.‘,‘Book Debts 25,000
proposed dmdend' 5 20,000'| cash J 25,000
F- NI o ,,“~“_3'1__(j"goo / 8,10,000 3
“rhe Met Prot“t of the&:nmpany béfe?ve;hex were as follows: i E
g o D et BN N A Y Profit ;
5 o o QIR S Rs. 62,000 2
SIS ReRCeT T ;;v.x Rs. 64,000 -
U F X208 - O Rs. 71,000 4
S o D05 Rs. 78,000 k
$ 20165 Rs. 85,000

S Income Tﬂx may bl takén @ 30% Normal Rate of Return may be assumed as 12.5%

" Find out of the Va{ue of ggndwm on five years’ purchase of the average super-profit for the last five years,
and alse fmd out vaiua 6f goodwill as per capitalization of super profit method. E

: 5 OR

Turn over

——t T
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5 The Balance of the Jindal Ltd. As on 31* March 2016 revealed the follow;ng S
Liabilities Rs. Assets &
3 Share Capital (Issued) Fixed Assets S, 00000 S P S
Equity share of Rs. 10 each 8,00,000 | Less: Depreaathgt _,_G.m S AT T 000
4 Reserves 2,00,000 | Goodwill : 0 e 27 5780,000.f-
3 Profit and Loss Account 20,000 | Current Assets - 90,000 |- .
3 10% debentures 1,00,000 | Discount on Dehénmre 110,000 |«
Current Liabilities 2,50,000 | Bank Balahce sy *4,00,000 | -
13,70,000 | . 13 10,000‘
1. Fixed assets and Goodwill were revalued at 55,7,501 and.| R&mfme respectwély
2. The net profit after tax for the mmediataly preeedihg th?ee 'géats virefe Rs l 10,000 Rs 1,05 000 and
Rs. 1,45,000 of which 25% were transfarred to resewes. S .
3. A fair return in the industry in wﬁic&‘l themmp‘arw is engagedf“ ‘co
Compute the value of the companyj‘sham bv
i) Net Assets Method .- BT o
ii) Yield Value Method o, T R e
b Following is the balance sheetwm Ltd_%mn 31\(13-2515:_; b AlN 15
Liabilities o 2] 5.5 ns, S e T e Rs.
8% Redeemable Preference share. 8 - 25,00,000
Capital (Shares of Rs Iﬂ each fuﬂ? ; 4,05,000
paid up) : 00 BanR Ealance 3,00,000
Equity Share Capnab{ﬂs 10 éach)r 00 | Other Cw:rent Assets 10,50,000
Securities Prerruum‘ ¥ L S (03, k_"",‘ Mtssellaneous Expenditure 20,000
Profit and Loss A/c FER - T'_;:' 0 1013,50,000 &
Directors Loan = -~ = < S AT S 2S00 S P
Sundry CrEdftﬂrs S > o B3GR S
_-_3@7_5;909‘?;;:- 42,75,000
The cbmpa nv eibfhsed*the optié;tto Redeem th“e ﬂreference Shares at 10% premium. For this purpose, it
issued 67,500 hg’ht '{ttﬂres of. Rs,;-10 each aba premmm of Rs. 10 per share.
g lnvestmént were so}d\for Rs. 5.13,000 T’a?.s neces::afy Journal entries in books of Anish Ltd.
3 ; OR

Turn over
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Q.3 The Balance Sheet of Straight Ltd. as on 31% March, 2016 was as under: .~ . .

Balance Sheet

Liabilities Rs. ‘
Share Capital: Fixed Assets
25,000 Equity Shares of Rs. 100 Investme\n}ts‘ : ¥
Each fully paid 25,00,000 MarketVaTué lﬁs B,O&?)QO]
10,000 9% redeemable :
Preference shares of Rs. 100 each
Rs. 90 per share paid up 9,00,000
General Reserves 3,00,000. 3
Profit and Loss A/c 2,99,000°
Dividend Equalization Reserves 2 00,990“ %
Sundry Creditors 3,5% QGQ 5

455@.000

On 1% April, 2016; the company made a qﬁlﬁ Rs: ', ¥ 2 : C 0
received. All preference shares were reBEémtd\au prerﬁsum nf 2&6 'me cqmpag ;old all Lts' investments at

the Companies Act, 1956. .;_: -‘; N
Pass Journal Entries in the boqﬁ QHM

L i

Q.4  The Balance Sheet of Arctlé‘ha“'klja‘ on;
’ & A N ,\‘\‘0‘\

Liahillt.ig?{“ ey R j, Rs.
Share Capital: iR ixed: "\_/'_\
Authorized, Issued;5 Net Block . 40,00,000
called-up: - ~ /estments 15,00,000
Equity Shares of Rs fQ e’ac Qu?rent; ASsets Loans &
Reserves &Surptus a0 difaﬁnes
Securitiés. prermum ~5,00,0000 »Cur’ren’t Assets
General.Reserve. 10,00, ooﬁ {mc}udmg Bank balance Rs.
Profit & Loss A}‘n ' -15,00,000) 35,00,000
Secured Loans:: - " 7 |toan & Advances 5,00,000
|10% debentutegz‘ & ‘;725"06 eoa
; _Curreﬂthahhﬂe&o
. Sundry CT'éditofs _15,60000
7 | Bills Payable b 5 s 00,000

i|) (g t&emgxuﬁutn prle‘b@ can offer.

iew llthe legalxe'qe ement?. ascertain:

"l Mammurn mimber of equrty shares that Archana Ltd. can buy-back.

'S “f':ﬁesume tﬁat the Duv‘ bhgk is. camed out actually on the legally permissible terms, record the entries in the

S Joumal of Arehana lth“

OR
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) & | QP. Code 05543
| GV

el

"
2

A Company gave notice of its intention to redeem its outsta nding Rs. 50,000; 10‘3‘6@5«311&?55‘3’5 100 eai:hé;t

> 4 a premium of 5% and offered the holders the following options: AT $ed
g 1. Toaccept 12% cumulative Preference Shares of Rs. 20 each a;'gé‘. 25,;5{;;}3:’._;@. I ”_‘
. 2. Toaccept 10% Debentures stock at 96% ARSI :

3. To have their holding redeemed for cash. Accordingly. . .5
i) Rs. 25,000 debentures holders accepted the Proposal 1. s
if) Rs. 20,000 debentures holders accepted the Proposal 2,
iii)  Remaining debentures holders accepted the Proposal3,
Pass the Journal Entries in the books of Company. PO AT S T

%

-~

2 F S LSS S TIPS,
Explain the Provision of the Companies Act, 1956, r. “g_tﬁi\ﬁg;;edemp%nqugre,fe;en& shares.

S N A

A
Distinguish between Redemption of Shares and BuybﬁckcfSﬁates (
Mmoo E
Write short Notes (Any 3/5) 3o S S ]
A. \Sources of BuyBack e g O
B. Bonus Shares &
/ C. Sinking Fund Method T 3

D. Yield Value Method of SharesVa uig_mn et P
E. Super-profit Method of valuat yof goodwill - .

W
“
—

- = Y
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N.B:

1. All questions are compulsory
2. Figures to the right indicate full marks.

A. Fillin the blanks by choosing the correct option (any 08) _:f‘? <

i) Inthe state of the number of farmers suiade'\ls thq. 1
(Bihar, Orissa, Maharashtra) S

ii) As per the new industrial policy, 1991, licensing |sfr"tquwéd mef’h y g Y

(five, six, seven) o) v &N
i) rights aim at personal good of an mﬂiﬂdﬁ a: ‘co mmunity
( Fundamental, Natural, Religious) ] _;b\:'\’hp\ : i r,\‘:, i
iv)] Human rights have application.”" ”-”*% A X
N

(Limited, Universal , Maximum) ;‘rrf.;f:";» RS
v) The _____isa layer of gases surrounﬁhﬁéﬁjﬂé_@é{ g
(Hydrosphere, Biosphere, Atmosp. SR
vi) Acid rain is one of the harmful eﬁ&”qtsé?
(Air, Land, Water) F 34

H
’f ~

vii) means pre-judge _
(Violence, Stereotypes, P}ajugh:q)\ O :
vii) arises when g:oa&ﬁrqﬁe\d‘behﬁio r.is bkx:ked
(Anger, stress, frustraanj ' ' ;;:-‘
ix) ‘helps to devélnp ﬂ?e‘powef_ éf m[me i

,,,,,,

(Meditation, social § éuppprt,p{&vsmalexegcrse)

x) The ngeds Ilé‘at’the fﬁghesr level of the\f\ierarchv of Maslow s Need Hierarchy Theory.
(Esteem, Sqmal se f:ﬁciuaiizé‘i‘:éﬁ

State whether :he\frglowing st‘aterﬂen’tswk Iﬁﬁe orFafse (awﬁ?)

i) Forceu\mrgratlbhﬁnyﬁlsﬁhe ailé&ssfarcad?“q?syjaeement
i) IT has pade communication e:gpbnswe aﬁﬁtomﬁle; oo
iii) Freqdom of speech and exprgssgmnﬁmanglsﬂmlpde defamatlon
iv) . The fundamental rights areah;a;u“ien S
v} Natural ﬂnvironment p?Qvidgkm\Enembié\%urces f ene rgy
Ni}The com pos;tu;n of envtrohmeat Js»\the $ameeve-rywhere
i), Regronahsm is r.hewbnlv géuse&o:[faggres;[un“amf violence
5 vm) Type B personajity generajly enghqés In 1n;trumental aggression
) Smooth(ngquerﬂaaccpihmqﬂét}ng b¢her party’s interest
P x) WIH*WIT’I strategy isto "oNe 2 pi‘bbterh ahd not to shift the blame an other

D
U

2 Expiamathé cchqepf ofq;lgmtiﬂ(y& lts causes and effects.
ol AT A ,\ | OR
Bneﬂ\w Hesqribe the folp o‘F corgmate farming in India.

(P.T.0)
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4. What are the agents of socialization?

A7EDBFD88F77D416B3550F33A02269F9

Write short notes on

5. Enumerate on st



